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NXn>92% is pressed down before him — 7% R©an NNo9an

OVERVIEW

A person came before 7211 27 and claimed “nX¥» mno nnd. 1"7 ordered that he
should be whipped with palm fronds (*91), saying 7°> Xv*an xn372n'." The X3
asked but 1" maintains that the claim of 5"d is believed, why should he be
whipped. The X713 replied it is no contradiction he is believed but nevertheless he
should be whipped since 1% Xv°2n ®Xn>72n. However XnX 27 answered that there is a
difference between a 7112 who should be whipped and someone who was married
previously who is believed. m1501n offers two interpretations of this &723.
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The explanation of this X713 is that 1"7 said, smite him for he is spreading a bad

name on a Jewish daughter, for he is certainly lying with his claim of 5"> -
- 19571 KY 7950 ¥Pa 11PY 19395 MVIAN IR )

For are nwyan nivr before him that he should be acquainted with what is or is

not a "9, therefore he is not believed with his claim of "5. The & 13 asked -
- 59995 7159 13301 12501 SIWMI P51 ANI 29 NN NN

But 1""9 ruled that one who claims 5"9 is believed (how can we say that he is not
believed)?! And the X713 answered that according to 1"7 he is believed and we

smite him with 59915, meaning -
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That when 1" ordered, ‘smite him’, it was not because 1"9 did not believe him

(as we initially assumed) -
= DTN DY MIYNY %90 IMPINY 919N 139INRN NN NIN

But rather he believed him and ordered to smite him because he was suspect

for nut; otherwise how would he know whether it is a 8" or not -
= 9IN32 »99N) 135110 NIT NXIPIYN )9 NYP2DTI 2IWN XNNX 299

And R'"9 answered as we originally assumed that 1"7 did not believe him, for

we are discussing a 972 who was never married, however when 1" rules that 5" is 1K1
that is by one who was already married.’

! Xn272n is the name of a city. The expression 7°2 Xvan Xn>12an means; [are] the M of Xn372n (are) lying down for

him, so he knows to distinguish whether it is "5 or not.

? According to this interpretation we initially assumed that when 1" ordered lashes (it was because he was a 7"wxm

and) he did not believe him regarding the 5"9; saying how could he know of 8"9; is it then that 7% Xv>an 05721 (in a

rhetorical sense), certainly not. The &3 concluded however that indeed 1" did believe him and assumed the reason

he knew of 9"o is indeed because % Rv an Xn>72n and therefore he received the lashes (because he was Hv Twn
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mooIn offers an alternate explanation of the X na:
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We can also interpret the 579 Xwvam Xno92» as a positive statement even in the X"

(not as a rhetorical question as in the first explanation), meaning 1" said -
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Even though he is believed (with the 8"5 claim), nevertheless smite him because

he is suspect of N7 (that ™% Xv>an ’xn>12n; otherwise he would not know). The X113 asked -
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But 1'% merely ruled that he is believed (to claim 5"9) and 1"7 did not clarify
that he be smitten (seemingly indicating that whoever claims 5"d need not be smitten) -
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And the X713 answered, no; he is believed and he is smitten but 1'% was not
discussing lashes (when he ruled that 12x3 >nX¥» 5"D IMR?) -

1YWY MPYN KA 13551 1IN 29 YINT NI ©9IYY 9N NAN 29
X'"9 answered that indeed the jaN: of 1"9 is without lashes, provided the
claimant was previously married; however in this case he was still a 2.

SUMMARY

In the X" we can learn that 11 either believed him or not; in the conclusion we
maintain that even though 5" is believed he still may receive lashes (only if he is a
712 according to XX 27).

THINKING IT OVER
1. Is there a difference in the understanding of XnX 27 between the first
interpretation of Moon and the second?’

2. What are the relative advantages and disadvantages of each explanation?’

mart). However, XnX 27 understands that 1"7 did not believe him since he was a 7112, and gave him lashes because he
was "W RXm.
3 According to this explanation, the X3 always maintained that 1" believed him, and nevertheless gave him mpn»
because 191 Xn312n; it was necessary to clarify that when 1" rules that 5"5 n1yv is 12K1 it does not preclude nmpon.
* See Y"wnn.
3 See 7™w 0"
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